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Ceneral Instruclions:

All questions are compu
The question papwr cons
[, Secion-A COMPrises
questions of 2 marks ea ch; Section
Section-D comprises of 11 qu-.*s.tium; of 4 marks each.
5. There is no overall choice in this question paper.

Use of calculator is not permitted.

@Ug-H J SECTION-A

Isory.
Ists of 31 questions divided into four sections A, B, C and
of 4 questions of 1 mark each; Section-! comprises of 6

1.
_C comprises of 10 questions of ' marks each and

2

v T 17 4 W WEE F 1 3 £
Question numbers 1 to 4 carry one mark each
qﬁfﬁmmmrxﬂ+bx+c=nﬁb:u,rcﬂt, Ay weif @ Wt @ it ? 1
124+ bt +c¢ =0, then what will be the nature of the roots?
1

If b=0, ¢ <0 in the quadratic cyuation
frr & Foedt fardm wms 'R wg E@Y F T A FAE & :% ﬂmﬁlmﬁhaﬂa"—{maﬁmm

el times the height of the pole. What

T ?

The shadow of a pole at a particular time of the day is 5

is the elevation of the source of light 7 "

rﬁmnﬁﬁ?mwwmﬁmfaﬂnmmﬂmﬁ:mﬁﬁﬁnﬁmmmﬁm 1
prime number which is less than

A die is thrown once, Find the probability of getting an odd

3.
ﬁgn,n}am(u,maa‘rf‘qaﬁmﬁ‘tmaﬁ h?ml;zﬁmm%wﬁ:ﬁaﬁmm 1
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Find ihe co-ordinabes of the point P which devides the segment joining (1, 0) and (1, 0) 7 the

ratio 1: 2

WA WO S 10 v F g e By

WYY W [ SECTION-8

Cuestion numbess 5w 10 carry bwo marks sady .
Wit s At m R i s msswmt ST R A e 2

T E

If five times the Mk term of an A P. is equal to eight times its eighth term, show that its 137 term is

RETO,

Fi

k¥ A 13 3wy =¥ frg fom AT 0 s b+ 6= 0 F 5 WHR €1

F_n‘-d the values of k. for which the Even quadratic pquation has equal rocts :4x’ +la + 6=0
Qv R d g wm F2 O F po TF W0 mq pT e p o vl Y 8w LPOQeTTR A 2

LTI =714 ¥ wif7g
ll

LIS

Q

In the given figure, O is the centre of a dircle, I is a chord

£POQ=70" then find ~/TPO.

and FT is the tangent at [, 1f

mzumﬁ‘mmmﬁqsﬂwﬂz;sﬂﬁmfﬁﬁnfﬁ;s

Draw a line wgment of length 10 cm and divide i* in the ratio 2: 3.
Bem R wd qa fr Fmafdgramai sim t) S7 p 2 7 W Wl v == wn ¥ dag

i et vl |

Point P Is such that it is al a distance of Scm from the

boundary of a dircle of radius 8cm. Find the

length of the tangent drawn from P to the cirgle.
= L
T TEEH 307w FIM YA W E AT T B8 om WO UF W w0 @ oW F A wm 2

ﬂfrl‘hw:-.r=%mw‘mﬁ"?rﬁ:{}

Al \J

P

2

A pendulum is swinging through an angle of 30° and describing an arc of length 88 ¢m. Find the

length of the pendulum. (Uise 7 = 3]
Fl

TTE-H [ SECTION-C

WA WO 11205 A% @13 HE D)
Cuestion numbers 11 to 20 carry three marks each,
a,=5-2nfm g £

W AP F T 34 v w1 4m ww iy frssinai w2
Find the sum of first 34 terms of the AP, whose nth
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12 T FIAT s af —2x—9=D 3

[/ Solve 127 =31 =9=0

-'l}/ 777 3.5 cm =T 7y a1 S p oo fg & Feg e w A U T e wifen :

P is a point on the circle of radius 3.5 cm, Construct 2 'I_BHEEI""- to the circle at p,
B w F e w1 e gt eo st &y gEa A F e A ves Hom % fnar g seem w3

30 By e vt A 1 Fnd oo wiew #, A wwedt wem W 3and amowifan
The horizontal distance between twa towers |s 60 metres. The angle of depression of the top of the
first tower when seen from the top ef the second lower is 307, If the height of the tecond tower is 90
metres, find Lhe height of the fint tower.

iE// ™ SR ann wen F A mAm e R 3
(a)  WifoEm wm =witau fx oy aimm we A §

(by  wifgEar s =e f5 ne Hiem fam fafas wom &)
(c)  wiass 7w Fifaw e 5E wem 3 71 fafe @iy

Sum of digits of a 2 digit number is 9; n

{a) Find the probability that such a number is not even.

() Find the probability that such a number is odd composite number,

{c) Find the probability that such a number is divisible by 3.

Ty f# g Al0, —1), B(2, 3). €10, 7) 3 D8, 3) T8 wm 3 T 9 wE IV A oYy 3

L TF A WA
Show that the points A{0, —1), B(2, 3), C(10, 7] and D

, : . 3 ) 8, 3) taken in order are th
parallelogram. Da they make a rectangle? SRRl

Y @ g wa wifw, SR g o, 7), tamir oap @ frwfm wwm % wats 3
Al=5,6) sfts(e, 10) frm e #1 oy mm vt 3w
Find the ratia in which the paint (g, 7) divides the line s2 ment AB, gi -
find the value of o, Ement AB, given A{ 5, 6) and B(4, 10). Also,
VR — 22 + 9V2=0 )
If hi, ¢ and V are the height, the curved surface and v :
a5 D g e and volume of a cone respectively, prove that
i e o . 3
WO R T uE oA W sl o g feam mn 8 sl zaop=1200 w3

OA=08=0C=0D0=60cm Z|

16

8 9 & T mamﬁmwmaﬁﬁm[nﬂ.lqﬁﬁ@
J
A table in a restaurant has a top of the sh i
sk Sl p e shape as shown in the figure, where ZADD = 120" and
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120¢ c
B
Find the perimeter of the tap of the table. {Take w=13.14). sl 5 &, afz snbim a1

UF 20 AermEn §, e uw fug sehire § B wEE

=t Fem b a1 F1 = W et faes g A (= %E 1 WA AL
A solid is composed of a cylinder with a hemisphere at one of its Ef""‘jﬁ' The \:uhnle lcﬂg';h,_—_:
the salid is 97 emu Find the total surface area of the solid, if the radius of hemisphere
(Usews 2—2- )
7

@WUE-T / SECTION-D
T WG 21 Ha1 H wdw @ g siF T
CQuestion numbers 21 to 31 carry four marks each. 4
faeit ap & +fid nn 8 % W A W0 24 & afve F A g0 A W W EM a4 ¥ T AP ¥ WU ST

Ealrua e i f

The sum of the 4" and 8™ terms of an AP Is 24 and the sum cf the 6 and 10™ terms is 34, Find the

first four terms of the AP.
o U T W v fell F 0w e & st fawen 3l wrd o e (a4 16) R A @ AT 4
a1 3 faw 1 39 @4 w15 i3 § qu 3 fam, @ 2 =1 o 7@ =ifag) g o 3 =ity R

3 fgq W wd T TR o g a wEh )

Rama ean do a piece of work in ‘a2’ days and Yimla can do the same work in {a+ 16) days. If bath work
together and finish itin 15 days, find 'a’. Also, find, what fraction of the work would Rama complete in

3 days.
UH AP H AfGa,= 4,d=2, 5, = — 14 & M n siita 70 FF=TCI

Inan Al'ifa =4, d=2 5, = =14 findnand a.
Prave that the lengths of the tangeats drawn from an external point to a circle are equal.
oR
ABC is a triangle in which £B=90°. A circle is drawn with AB as diameter intersecting the

hypotenuse AC at P. Prove that the tangent drawn o the circle al P, bisects BC.
i wAfzarg (e e TFAY 7l AB=AC=6 cm 311 BC=5 cm B11 ABCA T BWES T& ABQP I 4

= wifag, faud sa=8cm )
Draw an isosceles ABCA in which AB=AC=6 cm and BC=5 cm. Construct a ABQP similar ta ABCA in

which batio- it 58 _ L h
U G Faita: T T & aw fi ut fram @ S fage, ol 3% arf 3l e 200m F 4
T & e a50 3T 60" & T Hior A E Wzl 3 T A dd am i, fawd 2w T
f‘rrrmtarnr:tm*‘;sﬁmﬁgﬁznﬁg:ﬂ@ﬁmiﬁqﬁumﬂ@wmﬁm%n (3
=1.732 &7 w4m wfae 1)

A parachutist is descending vertically and makes angles of depression of 45° and 60° at two
observation polnts on the ground, 200 m apart fram each other, on the side to his left. Find, in metres,
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the approximate height from which he falls and also Fnd the distance of the point where he falls on
the ground from the first observalion point. [Use «.ﬁ =1.732)

27 / wemal 1§ 30 % sifan el B oF feed  ore st e A i wm e R g fesd o 4

!

o

H us wrd B 9 &) yaw witsa wm wifan fx wrd w1 e
(A) % WH e

M 149 oE e

{c) o vy ey B

(D) 209 T uE AT e ¥
Cards marked with the numbers 1 to 30 are placed in a box and mixed thoroughly, One card

is drawn from this box. Find the probability that the number on the card is

{A) an even number,
{B) a mumbser less than 14,
(<) a number, whichis a perfect cube,

(D) a prime number more than 20,

ABCD UF wEiar wd= ¢, faerd =il & frdwis af—2, —1), 601, 0), C(4, 3) p(,2) ¥ wwhn e 4
faant ac et & ar dwst an fayst A afem &) faod Ac#i Sfard i s 2o

ABCD iz a parallelogram with co-ordinates of its vertices as Al =2, =1), B{1, €}, Cl{4, 2} and D1, 2).
Show that the diagonal AC divides it into two triangles equal in area. Also, find the length of the

diagonal AC. . N . e
e P2 5wy T AN SN 400 m 1 WEIE W um &) widif 9o m ¥ 7AE 4 R 4
= 2 u

spiga &1 a2 4E 79 FAE PR 914 m A A Gw =1 aEEd T HlAL | (o = % =1 7
HITAL)
The inside perimeter of a running track Is 400 m. The length of each of the straight portion 1s 30 m and
the two ends are semi-clreles. If the track ks every where 1.4 m wide, find the area of the track, (Use
2
R ¥ W A G A A F OF Toww  amen # 8, Srmal 39 12 on ¥ g R o 4
it fod #1 fasand 99 3 cm 3K 12 o B1 T WEER W D W@ A g w1
1) Lyees
THFI YA T 7 9 100 em? € (= -';: 1 WET F Q)

A container made of a metal sheet is in the form of a frustum of a cone of height 12 em with
radii of lower and upper ends 3 cm and 12 cm respectively. Find the cost of the metal sheet

used, if it costs T 7 per 100 cm?, (Use = ?;_—2}

Tl % uw wge 3 B 7em 1 3 10em TN wF wig W@ de wArn e apEEmiE o 4
a7 W 91 TEE U HRE & fag IR 3uE o v v 07 o sad gl v H uw
TR U WE BN TiEETER 2E &) faem % cm 41 3T TRUE 10em W1 AT Sm A < AT %
e @ gorn wifee =l % wyE g wefei e /g

A greup of children made a metallic cylinder of radius 7em and height 10em. They observed
that it was very heavy. To reduce its weight they drilled a conical hole and completely filled it

with a lighter metal. The conical hole has radius -g- cm and depth 10cm. Compare the ratio of

volumes of both the metals in the new solid. Reflect the values shown by this group of

«children.
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